
SAP ABAP table RN1APPOINTMENT_COLLISION {IS-H*MED: All Colliding Appointments at a Timeslot}

RN1APPOINTMENT_COLLISION

MANDT [CLNT (3)]

EINRI [CHAR (4)]

PATNR [CHAR (10)]

FALNR [CHAR (10)]

TMNLB [NUMC (5)]

TMNOE [CHAR (8)]

BEKAT [CHAR (6)]

CLASS [CHAR (4)]

FATYP [CHAR (2)]

TPART [CHAR (2)]

TMSTG [CHAR (3)]

BWGR1 [CHAR (2)]

BWGR2 [CHAR (2)]

UARNR [CHAR (10)]

PAPID [CHAR (10)]

N1STGR

MANDT [CLNT (3)]

EINRI [CHAR (4)]

STOID [CHAR (3)]

 RN1APPOINTMENT_COLLISION-TMSTG = N1STGR-STOID 
0..N

{0,1}

N1TA

MANDT [CLNT (3)]

EINRI [CHAR (4)]

TPAE [CHAR (2)]

 RN1APPOINTMENT_COLLISION-TPART = N1TA-TPAE 
0..N

1

NBEW

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

LFDNR [NUMC (5)]

 RN1APPOINTMENT_COLLISION-TMNLB = NBEW-LFDNR 
{0,1}

{0,1}

NFAL

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

 RN1APPOINTMENT_COLLISION-FALNR = NFAL-FALNR 
0..N

{0,1}

NGPA

MANDT [CLNT (3)]

GPART [CHAR (10)]

 RN1APPOINTMENT_COLLISION-UARNR = NGPA-GPART 
0..N

0..N

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]

 RN1APPOINTMENT_COLLISION-TMNOE = NORG-ORGID 
0..N

1

NPAP

MANDT [CLNT (3)]

PAPID [CHAR (10)]
 RN1APPOINTMENT_COLLISION-PAPID = NPAP-PAPID 

0..N

{0,1}
NPAT

MANDT [CLNT (3)]

PATNR [CHAR (10)]

 RN1APPOINTMENT_COLLISION-PATNR = NPAT-PATNR 
0..N1

T000

MANDT [CLNT (3)]

 RN1APPOINTMENT_COLLISION-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 RN1APPOINTMENT_COLLISION-EINRI = TN01-EINRI 

0..N

1

TN14G

MANDT [CLNT (3)]

BEWTY [CHAR (1)]

POSIT [CHAR (1)]

GRUND [CHAR (2)]

 RN1APPOINTMENT_COLLISION-BWGR1 = TN14G-GRUND 

0..N

1

 RN1APPOINTMENT_COLLISION-BWGR2 = TN14G-GRUND 

0..N

1

TN15C

MANDT [CLNT (3)]

EINRI [CHAR (4)]

CASETY [CHAR (2)]

 RN1APPOINTMENT_COLLISION-FATYP = TN15C-CASETY 

0..N

1

TN24

MANDT [CLNT (3)]

EINRI [CHAR (4)]

BEKAT [CHAR (6)]

 RN1APPOINTMENT_COLLISION-BEKAT = TN24-BEKAT 

0..N

{0,1}

TNP01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

CLASS [CHAR (4)]

 RN1APPOINTMENT_COLLISION-CLASS = TNP01-CLASS 

0..N

{0,1}


